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Question Number : 1 Question Id : 8995148707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Horticulture has emerged as an part of agriculture, offering a wide range of
choices to the farmers for crop diversification and much needed nutrition to the people
1. Major
2. Minor
3. Indispensable
4. Important

Options :

89951434458. 1
89951434459.2
89951434460. 3
89951434461. 4

Question Number : 2 Question Id : 8995148708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

North Eastern states are covered under National Horticultural Mission mn India.
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Options :
89951434462. 1
89951434463. 2

89951434464. 3
89951434465. 4



Question Number : 3 Question Id : 8995148709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

15 a program formulated for the overall development of

Horticulture sector in the country.

1. Indian Agricultural Research Institute

2. National Horticulture Mission

3. Indian Council of Agricultural Research
4. Indian Council of Agricultural Science

Options :

89951434466. 1
89951434467. 2
89951434468. 3
89951434469. 4

Question Number : 4 Question Id : 8995148710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATDS stands for

1. Associated Immunodeficiency Syndrome
2. Acquired Immunodeficiency Syndrome

3. Associated Immunity deficiency System

4. Associated Immunity deficiency Syndrome

Options :
89951434470. 1
89951434471. 2

89951434472. 3
89951434473. 4

Question Number : 5 Question Id : 8995148711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Among the following which one is not an environmental determinant of health
1. Air
2. Food
3. Water
4 Soul

Options :

89951434474. 1
89951434475. 2
89951434476. 3
89951434477. 4

Question Number : 6 Question Id : 8995148712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Through which way pesticide can primarily enter the human body
1. Oral
2. Skin

3. Hair
4. MNoze

Options :

89951434478. 1
89951434479. 2
89951434480. 3
89951434481. 4

Question Number : 7 Question Id : 8995148713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Management of the soil fertility, cropping selection and rotation, and may make as
much incremental difference in yield as the imgation water itself

1. Water control

2. Pest control

3. climate control

4_crop control

Options :



89951434482. 1
89951434483. 2
89951434484. 3
89951434485. 4

Question Number : 8 Question Id : 8995148714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Apriculture is a

1. Primary activity

2. Secondary activity

3. Tertiary activity

4. Quaternary activity
Options :
89951434486. 1
89951434487.2
89951434488. 3
89951434489. 4

Question Number : 9 Question Id : 8995148715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Shifting cultivation is called 1n north east India as
1. Thuming
2. Ladang
3. Milpa
4. Kolkhose

Options :

89951434490. 1
89951434491. 2
89951434492. 3
89951434493. 4

Question Number : 10 Question Id : 8995148716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Commercial cultivation of fruits, vegetables and flowers meant for city markets
1. Horticulture
2. Viticulture
3. Sericulture
4 Milpa
Options :
89951434494. 1
89951434495. 2
89951434496. 3
89951434497. 4

Question Number : 11 Question Id : 8995148717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Who 1s the father of Green Revolution

1. Julie Borlaug

2. T.H Morgan

3. Norman E. Borlaug
4. Darwin

Options :
89951434498. 1
89951434499. 2
89951434500. 3
89951434501. 4

Question Number : 12 Question Id : 8995148718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who 1s the leader for Green REevolution in India
. Swaminathan

_Abdul Kalam

. Narendra Modi

. Abhas Mitra

N

Options :
89951434502. 1



89951434503. 2
89951434504. 3
89951434505. 4

Question Number : 13 Question Id : 8995148719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Along with agricultural systems, —- 15 one of the oldest
concepts i agnicultural classification.
1. Agricultural practice
2. Agnicultural purpose
3. Agricultural land
4. Agricultural regionalization

Options :

89951434506. 1
89951434507. 2
89951434508. 3
89951434509. 4

Question Number : 14 Question Id : 8995148720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Climate directly affects the number and character of plants that can be grown and the distribution of --

1. mature soils
2. water

3. manure

4. crops

Options :

89951434510. 1
89951434511.2
89951434512.3
89951434513. 4

Question Number : 15 Question Id : 8995148721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

WTO was established in the year
1.1st Jamuary 1996
2.18th Apnil 1952
3.2nd March 1965
4.1st January 1995

Options :

89951434514. 1
89951434515. 2
89951434516. 3
89951434517. 4

Question Number : 16 Question Id : 8995148722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gas released by the burning of fuels.
. Carbon di -oxide

Options :

89951434518. 1
89951434519. 2
89951434520. 3
89951434521. 4

Question Number : 17 Question Id : 8995148723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The method of classification thus induces a systematic segregation of
various types of lands according to capability of so1l, degree of erosion and other related factors

1. Land capacity

2. Crop selected

3. land capability

4. land classification



Options :

89951434522. 1
89951434523. 2
89951434524.3
89951434525. 4

Question Number : 18 Question Id : 8995148724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ladang means
1. Cultivable land
2. Type of Cattles
3. High vielding crop of paddy
4. Shifting cultivation

Options :

89951434526. 1
89951434527. 2
89951434528. 3
89951434529. 4

Question Number : 19 Question Id : 8995148725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Contiuous use of ammonium fertilizers result in the mcrease of
1. Soil fertility
2. Soil acadity
3. Soil pH
4. Soil mutrients

Options :

89951434530. 1
89951434531.2
89951434532.3
89951434533. 4



Question Number : 20 Question Id : 8995148726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Land Tenure System is also called as,
1. Co-Sharing
2. Cultivation tenure system
3. Village co-operative
4. Land consolidation

Options :

89951434534. 1
89951434535. 2
89951434536. 3
89951434537. 4

Question Number : 21 Question Id : 8995148727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

DDT is an example for,
1. WNematocide
2. Avicide

3. Fungicide

4. Insecticide
Options :
89951434538. 1
89951434539. 2
89951434540. 3
89951434541. 4

Question Number : 22 Question Id : 8995148728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Among the following classes of pesticides, which one 1s used to kill fishes
1. Acaricide
2. Ovicide
3. Piscicide
4. Herbicide



Options :

89951434542. 1
89951434543.2
89951434544. 3
89951434545. 4

Question Number : 23 Question Id : 8995148729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Land-use planming can be applied at three broad levels, national, ——— and local
1. Grass root level
2. Dastrict
3. village
4. Taluk

Options :

89951434546. 1
89951434547. 2
89951434548. 3
89951434549. 4

Question Number : 24 Question Id : 8995148730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Without supplementary-— . intensive agniculture leads to depletion of soil
fertility.
1. Tilling
2. Crop growing
3. Fertilizers
4. organic manure

Options :

89951434550. 1
89951434551.2
89951434552.3
89951434553. 4



Question Number : 25 Question Id : 8995148731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Himachal Pradesh and Jammu & Kashmir are considered the fruit baskets of the region because of
favourable climate and :
1. Topography
2. Geography
3. Physiography
4. Soil fertilitv

Options :

89951434554. 1

89951434555.2

89951434556. 3

89951434557. 4

Question Number : 26 Question Id : 8995148732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Landless laborers usually lack of,
1. Family

2 Land

3. Citizenship

4. Money

Options :

89951434558. 1
89951434559. 2
89951434560. 3
89951434561. 4

Question Number : 27 Question Id : 8995148733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Among the following works, which one can be considered as the economic job
1. Collection of fruits
2. Vegetable collection
3. Gleaning of grains
4. Paddy processing

Options :

89951434562. 1
89951434563.2
89951434564. 3
89951434565. 4

Question Number : 28 Question Id : 8995148734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

aid 1s targeted and freely distributed to victims of natural disasters or those caused

by humans.

1. Relief food

2. Programme Aid
3. Project Aud

4. Programme Aim

Options :

89951434566. 1
89951434567.2
89951434568. 3
89951434569. 4

Question Number : 29 Question Id : 8995148735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Despite successes in many countries_ absolute levels of chronic and poverty
continue to rise.
1. Over Nutrition
2. Malnutrition
3. Correct Nutrition
4. Undemutrition




Options :

89951434570. 1
89951434571.2
89951434572. 3
89951434573. 4

Question Number : 30 Question Id : 8995148736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

can also play an important role in improving the standard of nutrition, both
directly by providing essential food to those who lack access to adequate food, and indirectly when
provided in conjunction with nutrition education or when used to finance health inputs that complement
food intakes.

1. Food

2. Cultivation

3. Food aid

4. Supplements

Options :

89951434574. 1
89951434575. 2
89951434576. 3
89951434577. 4

Question Number : 31 Question Id : 8995148737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There are around —--—----——--- plant species which are cultivated for food, and many have several
distinct cultivars.
1.1500
22010
3.1700
42000

Options :
89951434578. 1
89951434579. 2



89951434580. 3
89951434581. 4

Question Number : 32 Question Id : 8995148738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

implies a skill or attribute that 15 handed down from one generation to the next.
1. Tilling

2. Irrigating

3. Growing

4. Tradition

Options :

89951434582. 1
89951434583. 2
89951434584. 3
89951434585. 4

Question Number : 33 Question Id : 8995148739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

from industrial and agricultural chemicals such as heavy metals,
organ chlorine, and radio mucleotides may compromise people’s nutritional status and health either
directly or through changes in diet.

1. Environment destruction

2. Environment upgradation

3. End products and waste

4. Environmental contamination

Options :

89951434586. 1
89951434587. 2
89951434588. 3
89951434589. 4

Question Number : 34 Question Id : 8995148740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



This 15 a kind of market classified based on number of commeodities
1. Commodity market
2. Secular market
3. Specialized market
4. Retal market

Options :

89951434590. 1
89951434591. 2
89951434592. 3
89951434593. 4

Question Number : 35 Question Id : 8995148741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The purpose of regional market 15 especially for,
1. Gold
2. Food
3. Wholesale buyers
4. Metals
Options :
89951434594. 1
89951434595.2
89951434596. 3
89951434597. 4

Question Number : 36 Question Id : 8995148742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Thiamine 1s another name for vitamin

1. Vitamin Bl

2. Vitamin B2

3. Vitamin A

4 Vitamin D
Options :
89951434598. 1
89951434599. 2



89951434600. 3
89951434601. 4

Question Number : 37 Question Id : 8995148743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Along with climate and weather, there are also that can lead to food shortages.
1. Rise 1n sea level
2. Artificial disaster
3. Natural disaster
4. Soil erosion

Options :

89951434602. 1
89951434603. 2
89951434604. 3
89951434605. 4

Question Number : 38 Question Id : 8995148744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Access to 15 2 new global initiative that evaluates food and beverage
manufacturers on their policies, practices, and performance related to obesity and under nutrition.
1. Research

2. Food surplus
3. Food accessibility
4. Nutrition Index

Options :

89951434606. 1
89951434607. 2
89951434608. 3
89951434609. 4

Question Number : 39 Question Id : 8995148745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



random sampling 1s useful techniques for data collection if the population is

heterogeneous.

1. Purposive

2. Random

3. Stratified

4. Non-purposive

Options :

89951434610. 1
89951434611. 2
89951434612. 3
89951434613. 4

Question Number : 40 Question Id : 8995148746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the most striking features of recent development in statistics 1s the rapid growth of interest in
development of methodologies and their applications as well
1. Research
2. Sampling
3. Statistical
4. Agnicultural

Options :

89951434614. 1
89951434615. 2
89951434616. 3
89951434617. 4

Question Number : 41 Question Id : 8995148747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which 1s the largest producer of rice in the world
1. India
2. Indonesia
3. China
4. Bangladesh

Options :



89951434618. 1
89951434619. 2
89951434620. 3
89951434621. 4

Question Number : 42 Question Id : 8995148748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

explained the variation of economic rent 1n terms of location advantage.

. Von Thunen
. Weber
. Ricardo

. Alonso

Laa fa =

o

Options :

89951434622. 1
89951434623. 2
89951434624. 3
89951434625. 4

Question Number : 43 Question Id : 8995148749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sequence of crops grown on a given area of land over a period of time 1s defined as
1. Crop production
2. Regular Fotation
3. Cropping System
4. Farm Eesources
Options :
89951434626. 1
89951434627.2
89951434628. 3
89951434629. 4

Question Number : 44 Question Id : 8995148750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



helps to aerate the soil, recycles nutrients and controls weeds, pests and diseases.

1. Irngating

2. Drying the soil
3. Ploughing

4. Adding Menure

Options :

89951434630. 1
89951434631. 2
89951434632. 3
89951434633. 4

Question Number : 45 Question Id : 8995148751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

15 helpful in the introduction of innovation m agricultural at field.
1. The crop combination

2. Indrviidual crops

3. Crop Rotation

4. Multiple cropping

Options :

89951434634. 1
89951434635.2
89951434636. 3
89951434637. 4

Question Number : 46 Question Id : 8995148752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The of a crop or cropping system 1s measured 1n terms of vield per unit area over a
specified period of time.
1. Amount
2. So1l content
3. Biological efficiency
4. Sopil Type

Options :



89951434638. 1
89951434639. 2
89951434640. 3
89951434641. 4

Question Number : 47 Question Id : 8995148753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The planners feel that such diversification not only offers opportunities for raising farm incomes
significantly, these are also likely to put less pressure ot ———-—-——-

1. Water

2. Soil fertility

3. Terramn

4. Natural resources
Options :
89951434642. 1
89951434643. 2
89951434644. 3
89951434645. 4

Question Number : 48 Question Id : 8995148754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
have destroyed biodiversity and habitats, driven wild species to extinction, accelerated the
loss of environmental production services and eroded agricultural genetic resources.
1. Agricultural intensification and expansion
2_ biotic factors
3. abiotic factors
4. rainfall
Options :
89951434646. 1
89951434647. 2
89951434648. 3
89951434649. 4



Question Number : 49 Question Id : 8995148755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Modernization in irrigation techniques involves
1. canal lining
2. improved hydraulic control structures
3.Both1&2
4 Only B
Options :
89951434650. 1
89951434651.2
89951434652. 3

89951434653. 4

Question Number : 50 Question Id : 8995148756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Agquifers are depleted in places where groundwater use exceeds recharging leading to
1. Floods
2. Land subsidence

3. Drought
4. Famine

Options :

89951434654. 1
89951434655. 2
89951434656. 3
89951434657. 4

Question Number : 51 Question Id : 8995148757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The demands placed on global agricultural production arises out of
1. population and land
2. population and income growth
3. land and imgation methods

4. precision farming



Options :

89951434658. 1
89951434659. 2
89951434660. 3
89951434661. 4

Question Number : 52 Question Id : 8995148758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One that provides most of the resources necessary for the farmer's family to live, such as food, fuel,
fiber, healing plants, etc.
1. productive farm
2. imigated farm
3. vegetable farm
4. fruit farm

Options :

89951434662. 1
89951434663. 2
89951434664. 3
89951434665. 4

Question Number : 53 Question Id : 8995148759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following states has the highest area under wheat cultrvation

1. Pumab

2. Uttar Pradesh
3. Tamuil Nadu
4. West Bengal

Options :

89951434666. 1
89951434667. 2
89951434668. 3
89951434669. 4



Question Number : 54 Question Id : 8995148760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Green Eevolution in India is not successfil in the

1. Beas Basin

2. Brahmaputra Basin
3. Kaveri Basin

4. Satly Basin

Options :

89951434670. 1
89951434671. 2
89951434672. 3
89951434673. 4

Question Number : 55 Question Id : 8995148761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not correct about the social forestry

1. Tt refers to forests planted by people
2. Social forestry 18 done on government lands
3. The main objective of social forestry 13 to provide fodder and fuel to the people
4. Community forestry 13 a part of social forestry
Options :
89951434674. 1
89951434675.2
89951434676. 3
89951434677. 4

Question Number : 56 Question Id : 8995148762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Consider the following statement and select the correct answer using the code given below:
1 Crops which are grown to make the field clean are known as ‘cole crops’
2 Crops which are grown to benefit each other are known as ‘complementary crops’
3. Crops which produce hiquid energy (ethanol) are known as “energy crops’

Which of the above statement(s) is are correct?

1. 1 and 2 are correct
2. 2 and 3 are correct
3. land3 are correct

4. 1,2 and 3 are correct

Options :

89951434678. 1
89951434679. 2
89951434680. 3
89951434681. 4

Question Number : 57 Question Id : 8995148763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Black soil requires least tilling because
1. Tt 1s very fertile
2. It contains lots of minerals
3. Tt has originated from volcanic eruption
4. It develops cracks in the dry season and loosened particles fall in the cracks
Options :
89951434682. 1
89951434683. 2
89951434684. 3
89951434685. 4

Question Number : 58 Question Id : 8995148764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the correct order of the process of soil erosion from the following”
1. Splash erosion, Sheet erosion, Rill erosion, Gully erosion
2. Sheet erosion, Splash erosion, Gully erosion, Rill erosion
3. Rill erosion, Gully erosion, Sheet erosion, Splash erosion
4. Gully erosion, Rill erosion, Sheet erosion, Splash erosion
Options :
89951434686. 1
89951434687. 2
89951434688. 3
89951434689. 4

Question Number : 59 Question Id : 8995148765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Salinization recurs when the irmgation water accumulated 1n the soil evaporates, leaving behind salts
and minerals. What are the effects of salinazation on the imgated land
1. It greatly increase the crop production
2. It makes some soils impermeable

3. It raizes the water level
4 It fills the air spaces in the soil with water

Options :

89951434690. 1
89951434691. 2
89951434692. 3
89951434693. 4

Question Number : 60 Question Id : 8995148766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed the theory of agricultural location
1. Von Thunen
2_ Jonassons
3. Weber
4. Mullar

Options :



89951434694. 1
89951434695. 2
89951434696. 3
89951434697. 4

Question Number : 61 Question Id : 8995148767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When time and distance increase, accessibality-

1. Decrease

2. Increase

3. Remains the same
4_None of the options

Options :

89951434698. 1
89951434699. 2
89951434700. 3
89951434701. 4

Question Number : 62 Question Id : 8995148768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who divide the agricultural maize and cotton belts of the USA

1. 7 C Weber
2. O E Baker
3. Kopak

4. D Thomas

Options :

89951434702. 1
89951434703. 2
89951434704. 3
89951434705. 4

Question Number : 63 Question Id : 8995148769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Match the following

A Primary Sector I Services

B Secondary Sector II Agriculture

C Tertiary Sector IIT Industrial

D Quaternary IV Business.
(4) (B) < @O

1.11 I I IV

2.1 i} m IV

3111 I IV I

4 IV il IT

Options :

89951434706. 1
89951434707. 2
89951434708. 3
89951434709. 4

Question Number : 64 Question Id : 8995148770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following activities comes under agricultural sector

1. Establishing of industry
2. Production of wheat crop
3. Working 1n army force

4. Cloth’s shop

Options :

89951434710. 1
89951434711. 2
89951434712.3
89951434713. 4

Question Number : 65 Question Id : 8995148771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Developing countries are mostly engaged in
1. Primary activities
2. Secondary activities
3. Tertiary activities
4. Quaternary activities
Options :
89951434714. 1
89951434715.2
89951434716. 3
89951434717. 4

Question Number : 66 Question Id : 8995148772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mixed farming has-

1. Two types of production
2. Only one type of production
3. Three types of production including cereal crops, pasturing of animals and cash crops

4. None of the options’

Options :

89951434718. 1
89951434719. 2
89951434720. 3
89951434721. 4

Question Number : 67 Question Id : 8995148773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Market gardening comes in the category of—

1. Horticulture
2. Monoculture
3. Subsistence farming

4. Two crop cultivation

Options :



89951434722. 1
89951434723. 2
89951434724. 3
89951434725. 4

Question Number : 68 Question Id : 8995148774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s primitive form of agniculture

1. Sedentary agriculture
2. Subsistence agriculture
3. Shifting agriculture
4 Nixed agriculture
Options :
89951434726. 1
89951434727. 2
89951434728. 3

89951434729. 4

Question Number : 69 Question Id : 8995148775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s renewable

1. Petroleum
2. Coal

3. Iron ore
4_Solar energy

Options :

89951434730. 1
89951434731. 2
89951434732. 3
89951434733. 4

Question Number : 70 Question Id : 8995148776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What should be the minimum growing penod for wheat

1.100 days
2.120 days
3.150 days
4200 days
Options :
89951434734. 1
89951434735.2
89951434736. 3
89951434737. 4

Question Number : 71 Question Id : 8995148777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Irrigation 1s practiced in some area because-
1. The regions recerves low ramnfall

2. Ramfall recerved 1s not sufficient
3. Ramfall 1= less available than needed for cultivation
4 FRainfall 1z more than the average needed

Options :

89951434738. 1
89951434739. 2
89951434740. 3
89951434741. 4

Question Number : 72 Question Id : 8995148778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which are the warmest temperature fruits

1. Banana, Mangoes and Apple

2. Citrus, figs, plums, grapes and lemons
3. Dry fruits

4. cold fruits

Options :



89951434742. 1
89951434743. 2
89951434744. 3
89951434745. 4

Question Number : 73 Question Id

: 8995148779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of manufacturing 1s known as-

1. Processing activities
2. Alternating activities
3. Industrial activities
4_Primary activities
Options :
89951434746. 1
89951434747. 2
89951434748. 3
89951434749. 4

Question Number : 74 Question Id

: 8995148780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pisciculture means

1. Rearing of cattle

2. Rearing of small insects
3. Reanng of fish

4. Rearing of animals

Options :

89951434750. 1
89951434751. 2
89951434752. 3
89951434753. 4

Question Number : 75 Question Id

: 8995148781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s not related to Plantation crops

1. Tea cultivation

2. Coffee cultivation

3. Rubber latex production
4. Soyabean cultivation

Options :
89951434754. 1
89951434755. 2

89951434756. 3
89951434757. 4

Question Number : 76 Question Id : 8995148782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is not the form of commercial agriculture

1. Commercial grain farming in middle latitudes
2. Plantation agriculture in muddle latitudes
3. Plantation agriculture in tropical regions
4. Bothe 1 and 2
Options :
89951434758. 1
89951434759.2
89951434760. 3
89951434761. 4

Question Number : 77 Question Id : 8995148783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cultural landscape shows-

1. Human impact on environment
2. Domuinance of nature

3. Impact of ecological factors

4. Association of fauna and flora

Options :



89951434762. 1
89951434763. 2
89951434764. 3
89951434765. 4

Question Number : 78 Question Id : 8995148784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In villages. the type of house 1 which man lives depends on

1. Cost of constriction
2. Climate
3. Locally available materials
4. Technology available
Options :
89951434766. 1
89951434767. 2
89951434768. 3
89951434769. 4

Question Number : 79 Question Id : 8995148785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Weber commodity index ratio 1s refered to

1. In between cost of raw material and cost of production

2. In between cost of transport and cost of labour
3. In between cost energy and cost and labour
4. In between weight of raw material and weight of production

Options :

89951434770. 1
89951434771. 2
89951434772. 3
89951434773. 4

Question Number : 80 Question Id : 8995148786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Food industries, such as sugar tend to be located close to the

1. Source of raw matenial

2. Market

3. Caprtal

4. Labour
Options :
89951434774. 1
89951434775. 2
89951434776. 3
89951434777. 4

Question Number : 81 Question Id : 8995148787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A cattle ranch makes use of

1. Large amount of labour
2. Large area of land

3. Large amount of capital
4. Large stock of machinery

Options :

89951434778. 1
89951434779. 2
89951434780. 3
89951434781. 4

Question Number : 82 Question Id : 8995148788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The concept of carryving capacity of land in terms of population for measuring agricultural efficiency

was first proposed by-

1. G Y Envedr
2. Dudley stamp
3. JL Buck

4. Jashir singh



Options :

89951434782. 1
89951434783. 2
89951434784. 3
89951434785. 4

Question Number : 83 Question Id : 8995148789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The HY'V rice shows better performance in relatively dry irrigated land than in rainfed area, because-

1. HYV rice seed are breed in dry environment
2. Humid conditions make the farmer lazy

3. HYV rice requires controlled water supply
4. Dizease incidence in wet lands is high

Options :

89951434786. 1
89951434787.2
89951434788. 3
89951434789. 4

Question Number : 84 Question Id : 8995148790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s true about the subsistence agriculture
1. Cropping pattern 1s dominated by food crops
2. Intensive use of land due to high pressure of population on the agricultural land
3. Farming 1s so extensive that two, three and even four crops are harvested in a year
4 All of the options
Options :
89951434790. 1
89951434791.2
89951434792.3
89951434793. 4



Question Number : 85 Question Id : 8995148791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The main objective of which of the following agniculture 1s to grow crops for sale in the market

1. Intensive

2. Commercial

3. Shifting

4. Extensive
Options :
89951434794. 1
89951434795. 2
89951434796. 3
89951434797. 4

Question Number : 86 Question Id : 8995148792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following crops does not come under the plantation crops

1. Coffee

2. Rubber

3. Sugarcane

4. Tea
Options :
89951434798. 1
89951434799. 2
89951434800. 3
89951434801. 4

Question Number : 87 Question Id : 8995148793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Maize, Cassava, Banana and Sweet potato are the main crops of

1. Sedentary agriculture
2. Subsistence agriculture
3. Mixed agniculture
4. Shifting agniculture
Options :
89951434802. 1
89951434803. 2
89951434804. 3

89951434805. 4

Question Number : 88 Question Id : 8995148794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who among the following has divided the Earth into thirteen agnicultural regions

1. Von Thunen
2. Weber

3. Whittlesy

4. Spykeman

Options :
89951434806. 1
89951434807. 2

89951434808. 3
89951434809. 4

Question Number : 89 Question Id : 8995148795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A reliable and suitable irrigation water supply can result 1n vast improvements in agnicultural
production and assure the of the region.
1. Water available
2. Cropping system
3. So1l type
4. Economic vitality

Options :



89951434810. 1
89951434811. 2
89951434812. 3
89951434813. 4

Question Number : 90 Question Id : 8995148796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Large areas of cultivation with single crop is the peculiarity of
1. Mixed crops
2. Plantations
3. Mediterranean farming
4. Subsistence farming

Options :

89951434814. 1
89951434815. 2
89951434816. 3
89951434817. 4

Question Number : 91 Question Id : 8995148797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Among the following which one 1s not a basic requirement for agriculture
1. Water
2.Land

3. Human labor
4 High Yielding Varieties

Options :

89951434818. 1
89951434819. 2
89951434820. 3
89951434821. 4

Question Number : 92 Question Id : 8995148798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The key to the most important aspect of land use lies in the relation of - to land.
1. People
2. Farmers
3. Scientists
4. Population
Options :
89951434822. 1
89951434823. 2
89951434824.3
89951434825. 4

Question Number : 93 Question Id : 8995148799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The raw material for nitrogen fertilizers 1s
1. Potash
2. Phosphate
3. Ammonia
4. Magnesium
Options :
89951434826. 1
89951434827. 2
89951434828. 3
89951434829. 4

Question Number : 94 Question Id : 8995148800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term refers to the set of miles and regulations that directly influence the
use of farmland, whether they are implemented by national or sub-national governments.
1. Land reforms
2. Land policy

3. Land distribution

4. Land use policy
Options :
89951434830. 1



89951434831. 2
89951434832. 3
89951434833. 4

Question Number : 95 Question Id : 8995148801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Crop rotation, which 13 a , should be promoted 1n a holistic manner.
1. Cropping process
2. Tilling process
3. Harvesting process
4 fertilizing process

Options :

89951434834. 1
89951434835.2
89951434836. 3
89951434837. 4

Question Number : 96 Question Id : 8995148802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

India’s post land reform penod 1s,
1.1950
2.1940
3.1960
4.1970
Options :
89951434838. 1
89951434839. 2
89951434840. 3
89951434841. 4

Question Number : 97 Question Id : 8995148803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Many who are unfamiliar with the complexities of food aid programs view it as homogeneous in its
form and purpose.
1. Heterogeneous
2. Similar
3. Homogenous
4. Co-related

Options :

89951434842. 1
89951434843.2
89951434844. 3
89951434845. 4

Question Number : 98 Question Id : 8995148804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It 15 found that rural diet completely depends on
1. Crop production
2. cropping pattern
3. local production
4 none of the options

Options :

89951434846. 1
89951434847. 2
89951434848. 3
89951434849. 4

Question Number : 99 Question Id : 8995148805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Among the given industries which one 15 not based on agriculture
1. Silk industry
2. Brokerage industry
3. Paper mndustry
4. Beverage industry

Options :
89951434850. 1



89951434851. 2
89951434852. 3
89951434853. 4

Question Number : 100 Question Id : 8995148806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The might have contributed to the poor awareness on market information by farmers as
compared to traders.
1. incomplete information
2. lack of access to internet
3. illiteracy of farmers
4. literacy of farmers

Options :

89951434854. 1
89951434855. 2
89951434856. 3
89951434857. 4



